## Sanwar Parvez

## \_oan Refurnable Do Requires

A My aur

From:

Sanwar Parvez <sanwar@cross-world.com>

Sent:

Monday, February 1, 2021 10:49 AM

To:

shipan@cross-world.com

Cc:

habib@cross-world.com; 'Maruf Ahmed' (maruf@cross-world.com); moshiur@cross-

world.com; sayeful@cross-world.com; adib@cross-world.com; harunor@cross-

world.com

Subject:

Need Loan Returnable DO for Besta Apparels Ltd. BBT Offer for Bestra Apparels \_01.02.21 Loan.xlsx

Dear Shipan,

**Attachments:** 

Pls make Loan Returnable DO as per attached BOQ for Besta Apparels Ltd.

Expected receiving Date 30 June 2021

Yote: Customer will open L/C and We'll import some fast moving item with them.

Here attached a Sourrity

**Best Regards** 

Md. Sanwar Parvez | CROSS WORLD POWER LIMITED | Manager, Sales | Plot 1/B, Road 90, Gulshan 2, Dhaka 1212, Bangladesh | p: +880 2 5881 1858, 989 1442 | f: +880 2 5881 5160 | m: 01777719792 | w: www.cross-world.com

please consider the environment before printing this email

This communication contains information which is confidential and may also be privileged. It is for the exclusive use of the intended recipient(s).

8m21

Dollow of

toy

As kerbal discoss with Maruf Sir need Loan Do. Sw 01.02.21

1



			107		0
18	63A TPN+PE, 4W, CU, IP55 M/C BBT AT 3RD FLOOR	1.00	LOT		C
(19)	KAP 0605-BB-63 A-FEEDER BOX-5W	2	PCS	20.35	40.7
20	KAP 0604-STD-63 A-STANDART LENGHT-6 WINDOW-4W	72	М	20.90	1504.8
23	KAP 16-FS-16 A-PLUG WITH FUSE HOLDER-L1	4	PCS	8.50	34
24	KAP 16-FS-16 A-PLUG WITH FUSE HOLDER-L2	1	PCS	8.50	8.5
25	KAP 16-FS-16 A-PLUG WITH FUSE HOLDER-L123	100		10.00	1000
(27)	AK MOUNTING JOINT SET	₩ 32	Pcs	1.64	52.4
28	25A TPN+PE, 4W, CU LIGHTING BBT 3RD FLOOR				0
29	KAM 0205-BB-25 A-FEEDER BOX-5W	n 4	Pcs	12.43	49.7
30	KAM 0204-STD-25 A-STANDARD LENGTH-4W	156	М	8.50	1326
34	KAM 10-B-10 A-TAP-OFF PLUG-L2	55	PCS	4.30	236.5
35	KAM 10-B-10 A-TAP-OFF PLUG-L1	) 55	PCS	4.30	236.5
(38)	AK MOUNTING JOINT SET	66	Pcs	1.64	108.075
0					0

otal= 4597.175

-to

01.02.21

on one

8388953



## **Dutch-Bangla Bank Limited**Payable at any Branch

STREEGE

Cross world power Utd.

Or Bearer

The Sum of Taka Three Lae

Tk 300,000 F

1231510158895 MOLICA ABUL HASAN & SHEIKH FARID AHMED

1231510158895 "B3BB953" 090330227"



## TO WHOM IT MAY CONCERN

This is express our interest that in our search for suitable partner for the supply of BBT in the project of **BESTA APPRELS** project, EAE is considered as one of the qualified brand along with others brands and **Cross World Power Ltd**. being representative of EAE BBT, is considered as one of our selected vendors to take part in the bid to represent EAE.

Thanking you and looking forward for further cooperation.

31.01,2021

Md Abul Hasan Operation Director Besta Apparels





